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Relação do aço

4xS1 4xS10 4xS14

8xS15

AÇO N DIAM
Q

UNIT

(cm)

C.TOTAL

(cm)

CA60 1 5.0 148 88 13024

CA50 2 8.0 56 108 6048

3 8.0 40 128 5120

4 10.0 16 VAR VAR

5 10.0 28 127 3556

6 10.0 80 142 11360

7 10.0 104 152 15808

8 10.0 88 157 13816

9 12.5 64 VAR VAR

10 12.5 24 VAR VAR

Resumo do aço

AÇO DIAM C.TOTAL

(m)

PESO

(kg)

CA50

CA60

8.0

10.0

12.5

5.0

111.7

470.4

132.4

130.3

44.1

290

127.5

20.1

PESO TOTAL

CA50

CA60

461.5

20.1

Vol. de concreto total (C-25) = 9.55 m³

Área de forma total = 42.48 m²
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